(77)

(A) jsin_1 (x;a) +c (B) é log [(x —a) + y2ax — x* | + ¢
(C) sin”! (x;a] +c (D) log |(x —a) + ‘/zax_xz | + ¢

dx
J Jaz —a’ +2ax - x?

~

dx
J(@? = (x-a)

. [xza
= Sin a + c
. 1 2x +2
sin dx = ...
Jax +8x +13

A) 26+ D tan {2 (x+ D} + 2 log

<

‘/4+9(x+ 1?2
B) (+ 1) tan” {2+ D} -3 log VO+4(x+ 12| 4 ¢

© G+ 1) tan! {zu—il)} +2l0g [ faroan| +c
D) (x+ 1) tan™! {z(x—il)} — 4 jog [YO+4(x+ 1| 40

.

N . 2X +2

Gsa : I= [ > dx
J4x +8x + 13

+c

gaiel @ (C)

(IIT : 2000)
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QLS x4+ 1 = % tan®. 2l dx = %secze do

3
sin~1| 2 tand
% secH

_[ sin” ! (sin@) -

% sec?0 do

% sec?0 do,

3
2
:l
2
3
2

:% [tan_l {%(X+1)} . %(x+ 1) — log

,/9 +4(x+1)?

=@+ Dan {2 (x+ D] = 2 log

.1 24 — X
(78) {xsm ( v }dx= ...... (@ > 0)
x*—2a* B
(A) (T) cos™! (%) - % 4a®> - x* +c¢
x*=2a® B
(B) (Tj cos™! (%) + % 202 -2 +c¢

x*—2a*
© ( 3

HI2L 5, x = 2a cosO. 0], dx = —2a sin® dO

2a — x 2 sin?8 .
‘/ = 2 = SmQ
4a 2 2

[ = I 2a cosO - sin”! (Sil’l%) (—2a sinB) dO

\/ 2a —2a cos®  _
4a

=—a2_|.6-sin26d6

< [0 (2240) ] 1-(ze420)

\/1+{%(x+1)}2

+c

IEE

wii, ¢ = ¢ + 2 log 3
gae. : (B)
(a>0)
0<0<m
0 /4
0<3 <7%)
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" cos 20 = cos?0 — sin?0 = (%)2 — (1 —XTZZJ = xzz—agaz
2w sin 20 = 2sin O - cos 0 = 2"1—% "3 = ﬁ 4q? — 32
_ (#j cos~! (%) — X faa2 32 +e gl : (A)
(79) fcosZG log% dao = ...
(A) % log tan(%+%) — % log|sin20 |+ ¢
(B) % log tan(%+6)| + % log | sin 20 | + ¢

© sin20 log tan(%+6)| +%log|cos 20|+ ¢

2

(D) Sil’l22e log

T, 0
tan(Z + 3)| — Llog|cos 20 | + ¢ (IIT : 1994)

cosO + sind
cosO — sind

Gsa : [ = Jcos2€log 40

1+ tand

1— tand do

= jcos 20 -log

do

= jcos 20 -log |tan (% + 9)

= log

tan (% + 6)

%— '[256029'(#) do

tan (% + Q)

)| +¢

[Jsece dd = log

J.sec29d =1L jog |tan (L +6)| + ¢
2

4 ]y
0 {Og

tan (

INE

+9)

+c} = 2sec 20 ]

. 1:% log tan(%+9) —~ Jmnze do

= % sin 20 log {tan (% + 6)} + % log|cos 20| + ¢ g : (C)
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(80)

@81

Y

(82)

3 .
sinx | X cos"xX — sin x
e 2 dx = eeens
COS™ X
(A)

eSnX (x — cos x) + ¢ (B) e5"* (2x + cot x) + ¢
(C) "X (x — sec x) + ¢ (D) €% (2x + tan x) + ¢
3 .
N ; X cos’x — sin x
o <1 [ (rentrns)
CoSs°X

= I eSnX (x cos x — sec x tan x) dx
=_[esmxxcosxdx—J‘esmxsecxtanxdx
I =1,-1
= | x - (eS"* cos x) dx
ed, 1 sin x d
=xjesjnxcosxdx—I(l-jesjnx-cosdx)dx
:xesinx_jesinxdx+cl (Jesinxcosxdx:esinx)
e I, = Iesjnx(secxtan x) dx
=eSi”x-secx—'|‘(eSi”xcosx sec x) dx
I, =eS”’”-Secx—_[e”””“dx—#c2

=(x.einy — _[esjnxdx+ c - eSinx . gec x + Iesjnxdx— c,)

= xeSinX — SINX o0 x + ¢ (=, =0
= eSinX (x — sec x) + ¢ LCICH (©)
o [ = _[ sinlx dx A J = I sin_l‘h_xz dx, dl ... (x>0)
(A) J=%I (B)I+J=% (©) 1+J=§x (D) 1—J=§x
B3a : J = _[sin_]‘h_xz dx = I cos™! x dx
I+J=I(sin_1x+cos_1x) dx:%jdx:%x L ClICH (o)
Pl x <0l T —J=Z x o ard L2l €, dl g (C), (D)
dt b .
J—lza(iﬂj te, dla-b= ...
n "
t"(1+1")
1 1
@A) 1 (B) 1 © % D) —+
(IIT : 2007)
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N dt
Bsa : [ = I

(1 + )"
dt

1
M+ 1(L + l)n

tll

NN 1
qQrL S, o+ 1 =x

bl l.}’[

dt -1
tn+1:7dx
—1
_ =l n
| =5 Jx dx
Ly
S
T n =141 +c
1 -+
=1-n X "+ c
n-1
_ 1 |[_L n
_l—n (ﬂ’l+1) —|—c
1 n-—1
a=1T—, b=
1-n n
_ (L \nr=-1)_ 1
a b_(l—”)( n )_ n
ab = -+

1
. ny b \
83) A J“;—’” dx=a(1++1) +e dlat b=
X

n+2

A 2 (B) 2 ©)

(Ln-rl)"dx
A

+1
xl’l

(D)

11
10

FAGL

(D)
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1 -1
xn+1 dx—?dt
== [
n
44
-1 tn
:7 141 te
n
n+1
=n+1 (0" tec
n+1
| .
BZES (l+xn) te
. 1 1 _l’l+1_5
_ 21 )
a+b=35 Fas : (C)
-5 -4 -6
(84) ﬁj(xh/xzﬂ) dx=P(x+,/x2+1) +Q(x+,/x2+1) +e¢e,dl P+Q= ...
-5 -5 -5 =5
A = B) & © < D) =
-5
G3a : I=J(x+‘/x2+l) dx
mvftf&s,x+‘/x2+1=t
1 _ 1 y x—\lx2+1
f x+Jx2+1 x4
L x—yxr+1
e
1
7 :—x+‘/x2+1
t+ 1 =22 susll, [2 41 = (¢ +1)
t x“+1- ) o/ x° +1 D) ¢

¢d, x + ‘/x2+1 =t

el Y
2‘/x2+1 ~
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2
dx =NY*L 4
t
_ 1
de =4 (1+g) &
_ 1 (6
_2jt+ dl
gt s
_E|: + 6:|+c
_ =l 4 _ 1 -6
—St 121 + c
=?1 x+‘/x+)4 2(x+‘/x+)(’+c
_ =1 _
P=3.Q=%
P+Q=(F)+(F)=5 et : (D)
(85) Jx ‘/ dx = Acos™! x +B,/1—x4 +Cx2\/1— * Y DAA+B+C= ...
(A) 0 ®) © = D) -l

N 3 [1+x?
Bsa : [ = | X477 dv
- X
qIRL 5, x2 = s5ind (0<0 < %)
2x dx = cos® dO. w4l x dx = %cose do

3 (1+X2)

b= 1—x4dx

(x2(1+ x?)
m (x dx)

o Jsin@ (1 + sin®)
T2 cos0

cosO do
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I = % I (sin® + sin*0) dO

l\)l»—

J(sin@ + 1z cosd czosze)

4 1 sin20

—76’0594‘29—4)(2
_ sin® cosO

==l cosO + o _ MY cosy
2 4 4

_ -1 _ 4 1 . —1.2
2‘/1 X +45m X

1 22X
A) < tan +c
A) 3 ‘/3 —4x?

N B 1
Gsa : 1 = j(4+3x2),/3—4x2 dx

QL 5, x = Nl sin®

I

2
= @ cosO do

J Azécose do

4+ %mze)«/a —3sin’0

J do
9sin’0 + 16

J sec?0 d 0
:2 S ——

[\

16 + 25 tan*0

dt
=2 j(y)u (4)?

_71 cosO + % J. (1 — cos20) do

—lxz‘ll—x4 +c

(sin~x% = 3 - cos 1x? glaigl)

A)=-- el : (D)

_ 5x
(B) Lian | =2+ ¢
10 2‘/3 —4x?

Dy L g1 =32
()ﬁtan o + c

T

(0<0<%)

(MR %, tan® =t 4 sec?0 dO = df)
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jL _
) | oo =

(A) %tan_l (% tan x) +c

© %tan_l (% tan x) +c

- dx
Gsa : [ = J—

5+ 4cosx
Wl 5, an X =1

2dt 1-1

Sl CoX =T

[ = 1 2dt
B 1+
54422
[+
_J 2dt
) s(1+ ) +4(1-12)

dt
:2J(r2>+<3)2

=2 ] L)
3tan (3 + c

2,1 (1 1)
3tan (3tan2 + c

dx 1

(88) ol fm =7 tan™' (f(x)) + ¢ dl,

(A) f(x) =tan x— cot x

©) f(x)=tan x+ cot x

G%et:1=f dx

sin*x + cos*x

11 (1 l)
B) 5 tan (3tan2 +c

(D) %tan_] (% tan (%)) + c

(D) fx) = % (tan x — cot x)

FAeL

g6l

© (B)

D)
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(" sec*x dx

_ - NN N 4 N 5 N
I Py —— (212l 2 e cos*x A3 MLdLdl)

( (1 + tar’x) sec’x

= dx
1+ tan'x

~

1+ 12
1+ t*

dt (MR 5, tan x = ¢, 2|, sec’x dx = dt)

o

(.
—_——
~
(8]
+
- ~
ol—
S~

(Wi 3, 1 — % =, e, (1+ti2) dt = du)

_ ﬁmn‘l (tanx;icot x)j V.
S fx) = w . &aﬂf(%) =0 gaus : (B)
(89) ﬂlog (log x) +(10g+x)2} dx = x [f(x) — g@)] + ¢, Al o
(A) f(x) = log (log ). g(x) = Tog 7 (B) /() = logx. g) = g x
© ()= Tog - &) = log (log (D) £ = T 89 = Tog x

G3a : I log (log x) dx

= log (log x) ] 1 dx — [ (< log (log x) [ 1 d) dx

=x - log (log x) — J(bé . %X) dx

1
=x - log (log x) — Jlog T dx
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_ 1 ) 1
—x-log(logx)—x.logx+ (logx)zox'x dx

1
J log (log x) dx = x - log (log x) — x - J(log x)? dx

R
log x

1 1
Jlog (log x) dx + -[(log BE dx=x - log (log x) — x - oz x

=X [log (log x) — 10; x]
f(x) = log (log x), g(x) = 10gl < gl : (A)

A4 2 Bl [Asedl uHISL i el 9. f(x) = log log x + sin x, g (x) = @ + sin x U8 48

S, WAV dl f(x) = log log x + 4 (x), g (x) = @ + h (x)

X tan”'x
(90) Jm dx=‘/1+x2 Sx) +klog x4+ {x2+1) + ¢ dl ..

(A f(x) = tan'x, k= —1 (B) f(x)=tan 'x, k=1
(©) f(x)=2an x, k=-1 (D) f(x) = 2tan 'x, k=1

Gl : Jf(x) de = 2JF(x) + ¢

NITE)

J‘/1+x J‘/1+x dx= 2(2 +x2) =1+

¢d, I = I (tan™x) =~ dx

_ _ d —1 X
= (tan 1x)J X dx — —(tan x)J dx | dx
Ji+x dx Ji+x
_ 1
=‘,1+x2-tan ]x_J(1+x2. 1+x2)dx

J_z ; -1 dx

= - tan”'x —

I+x Ji+x2

= Jl+x2 ctan'x — log |x + J1+x2 | + ¢

adl, f(x) = tan x, k= —1 gus : (A)
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-~

%1

oD

2X

(A) f tan™! [m] + %

2X

©) ﬁ tan™! [m] + %

dx

e IZJ(Mz)m

—t dt

B J(l + t2),/t2 -1

B udu
) W +2)u

du

:‘fwy+d52

¢d, F(1)=0. 20dl, ¢=0

tan

2 J2x

F(x)=

Sl

— —cot™

2 V2x

E IW}

F(x)=

Sk

d
J@+ﬁﬁf§52ﬂm%&mn:m

dlx > 0 M2 F(x) =

(B) %tan_l[m - 35
,/l—xzj

ﬁx} T

(D) ﬁ tan_l[ Tox

(L 5, 2 — 1 = w2 208l 27 df = 2u du)

! 1 —1£ -1 -1 T -1 -1 (4
=5 +ﬁtan /1_x2 (tan™x + cot x—;,cot X = tan (;),x>0)

S 1(C
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(A) —ettanx + ¢ (B) —e*cotx+c
(C) etanx + c (D) e*cot x + ¢
Qo ;[ - exz—sin2x 4

T 1—cos2x ¥

L 2—28in X cos x
= |e€ dx

2sin’x
= J. e* (cosec’x — cot x) dx

= —J e* (cot x — cosec?x) dx

=—e¥cot x + ¢ xAlel :
. (2x* +3) B x—2V(x+1)! . B
93) D2 -2 dx = log P T—.) tedlptag= ..

7 1 =1 =7
@ 1 ®) + © = D) =L
. (2x* +3)
Gsa : 1 —J(xz_l)(x2_4) dx

2x% +3 A B

UL 3, (C—D(F—a) x-1Tx-4

22+ 3 =A% -4)+Bxz-1)

ABIBLSL il AN UEL AV,
A+B=2 —4A-B=3

Giadi, A==, B=4

s u
_ 3 3
I_J(Xz—l) dx+Jx2_4dx

51 ulill BT 1 x—2
=3 Xglog |l | T 5 Xagp leg [T te
X — xX—2
- =3 11
=% log ||t log | te
s xX+1 " x—2
—glog " 1—l—ﬁlog Tt T ¢
H u
X +1)6 x =2 \12
=log|lx-1) " | x+2 +c
R | I - _ 1,10 _ 217 .
cp=pig=2o 2, prg=4ot+ g = T ¥ :

(B)

(A)
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(A)

©

3x+2
2 (x-3) dx = ...

X+3 8 xX—3 ]
Hlog |35 —7=2 *¢ (B) 1llog |35~ 723 +¢
X—-3 8 X+3 8
11 log |55 T—5 t¢ (D) 11 log x+2+x—2 +c

[ 3x+2
R AT TS
3x+2 A B C N
(x-22(x-3 x-2t (x-22F (x-3

(Bx +2) = A(x — 2)(x — 3) + B(x — 3) + C(x — 2)?
2, dl 8=-B 219, B = -8

3, dl 11 =C 21l C =11

0, dl 2 = 6A — 3B + 4C

2 = 6A — 3(=8) + 4(11)

B=-8, C=11

xzjx 2

X .
=
Il

X,
=
1

X,
=
1

A=-11,

Joes

3x +2

—=8
2)2()6 dx + J(X—Z)z dx +

xX—-3

x_
=11 log [ + 55 tc UCTI

dx

x5+1): ...... (x>0)

s log x x+1)+c (B)Sog = +c

1 X, D) 11 X

5 %8 ()T € (D) 5 log | 557) T ¢

I:f dx _ dx
x(xX°+1) XG[I+L]
X
| l _—_1 AN L:

[ —?Itdt— = log 1] +¢ (MRL S, 1 + 5 =1, Q»uaﬂ 2 gy =
o 1 1 o X +1 ! x5
_?log(+?)+0_510g e JteTslog () e

RS TAS A

©)

dr)

(D)
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_dx
x(xX°+1)

1 dt
_f x*dx I =3 f(r+1)
S CSES))

1 ]

|
t+1

olloy AUd : j Al Ad

di
:lj 2t (3 =1, 5x* dx = di)

T+t 1
=3 log

:ij—gf > 5
)+ -(3) L log [

X +1
1_1
. t+5-3 N
=3 1) 08 1,1 ¢
5 zﬁ t+5+5
_ 1 X7
=35 log |5 (x> 0)
3sin X + 2cos x
(96) 3¢os x + 2sin x ax = ..
(A) %x+%log|300sx+2sinx|+c (B) %x+%log|300sx+2sinx|+c
©) %x—%log|3cosx+2sinx|+c (D) %x—%log|3cosx+2sinx|+c
0 3sin x + 2cos x
s 1= 3cos x + 2s8in x dx

Y1315 (3sinx+2cosx) =I1[(3cosx+2sinx)]+m [%(kosx +2sinx)]

3sin x + 2cos x =1 (Bcos x + 2sin x) + m(=3sin x + 2cos x)
= (2l — 3m) sin x + (3] + 2m) cos x

sin x el cos x -l ALIARISL AvlAdL,

2l -3m=3, 3] +2m=2

tddl [ =12 ==
@sacu,l—B, m=33

L (3cos x + 2sin x) — 2 (=3sin x + 2cos x)
_ 13 13 dx

(3cos x + 2sin x)

R J.d 5 —38in X + 2cos x 4

T IX 93] 3cosx +2sinx

=12, _ 35 3 2si ¥alel
=55 og |3cos x +2sinx| + ¢

—25in*x cos’x

sin®x — cos®x
on |- = ..

(A) sin2x +c B) —% sin 2x + ¢ © % sin 2x + ¢ (D) —sin2x + ¢

©
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.8 8
Sin" X — Ccos X
BG3e : I=J

1-2sin’x cos’x

(sin*x + cos*x)(sin*x — cos*x)

(sin’x + cos*x)? —2sin*x cos*x

4x = (sin*x + cos*x)? — 2sin*xcos®x)

_[ (sin*x — cos*x) dx (sin*x + cos

I (sin*x + cos*x)(sin*x — cos®x) dx

= _[—cos 2x dx = — sm22x gae. : (B)
2
X
(98) J(a+bx)2 dx = ...
1| y42a a1
(A) b2 {x+blog(a+bX) b a+bx} te
o[, _2a a2 1 |
B) 72 _x blog(a+bx)+b a+bx_+c
[, 2a & 1]
(©) H2 _x+b10g(a+bx)+b a+bx_+c
) 2
D) b%[x+%—7alog(a+bx)—%-m}+c (IIT : 1979)
2
Y ooy o | — X
Gsa : I_J(a+bx)2 dx
NN A I -
WA Y, @+ by =t el bdv=d e, dv =g dr ¢d, x = ba
2
I N ek S N
NICIRR
_ L (1o2a 22
= J(l 4+’ ) dr
S v il s
b | ST
= 1 [ (atho) 24 Tog la + bl - —<
= 75 a+bx)—2alog la +bx 7+ br +c
B 2
= b% x+%—27alog(a+bx)—%-a+lbx}+c Fus : (D)
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QRL S, x2 — a? =2 2, x2=d% + 2

2x dx =2t dt. 24, xdx=1dt

I = f_uxzx—az dx

1
= |———1tdt
Jaz+t2

J't2 +a’-a’

?+a’

2
= 1_(1_ dt
( t2+a2j
=t—a?L tan! (i)-l—c
a a
2 —a?
=‘/x2—a2 — atan™! [T +c
[(2_,2
ofly Ad : [ = ju dx
X

QAL 5 x = a secO. 2, dx = a sec® tand do

a®sec?0 - a? a secO tand do

J asec@

a J. tan®0 do

a J (sec?0 — 1) do

(t>0)

0<6<%,a>0)
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=q tand — ad + ¢

X
= Jx2—a? —asec'F+c
2_ 2
= x2_a27atan‘l%+c gL
(100) _[ tan32x - sec 2x dx = ...
(A) % sec32x — % sec 2x + ¢ B) % sec32x + % sec2x + ¢
© % sec?2x — % sec 2x + ¢ (D) % sec?2x + % sec2x + ¢

Bsa : 1 = _[ tan’2x - sec 2x dx

QIR 5, sec 2x = 1, dl sec 2x tan 2x dx = %dt

=1f@-na

—5°?—3t+c
=%sec32x— %sec 2x + ¢ gaAl

QM)f,“—xchz ......
X
. — . a— X
(A) sin 1%"_% a2_x2 +c (B) al:sm 1"§+"§"T:| +c

© sin_lg—ﬁ az -2 +c (D) sin_lg—% a2 -x? +c

G%el:I=J a—Xx dx
X

H12L 5, x = g sin%0 (0<0< %)

dx = 2a sin® cosO dO

)|

a I 2c0s%0 do

2
coszg 2a sin® cosO® dO

o
|

a _[ (1 + cos 20) dO

a [9 + smzze} +c

=a [0 + sinb cosO] +

[ p—x}

(A)

(A)

© (B)




(102) H”:":l : _COS:I‘/;) = ..
sin~'Jx + cos™'x
(A) %[m—(l —2x) sin ' x]+x+c
(B) %[m—(l—zx)sin—lﬁ]—ﬂc
© Flfx-x2 +0 -2 s fx]+x+c

D) Flfx-x + U -20sin ' Ix]—x+ec (IIT : 1986)

. sin~'x — cosT'Wx
G3a : [ = dx

sin"'x + cos™'x

ale

J{szn W - (——sm \/;)} dx (sin"'x + cos Wx = %)

2 sin~ ) dx

ale

%J. sin 'Wxdx — x
=2 —x ol 1y = [ sinWx dx

Q2L 5, x = sin0 0<6<7Z)
dx = 2sin® cosO do
1,= [0 sin20 a0

0 [ sin20 a0 — f( (0) [ 5in20 de) 0

_ 20 c0s20
__9.%_“.(_) 40

—% cos20 + % sin 20 + ¢

=——(1—2x)szn1J_+ Ve Ji-x +c
(cos20 =1 — 2sin?0 = 1 — 2x, sin20 = 25in® cosO = 2\/;‘/1 —x)

/_ 2
=—%(1—2x)sin_1\/;+ x2x +c

-~

6d, 1 =21 —x
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— % {—% (1—2x) sin Jx +

x—xz
2 —-x+c

=2 fio2 — (-2 sin ' Jx]—x+c

qail : (B)

(103) J% - > 0)
(2bx + x*)2
Ay =L (x +2b) N gy =L (x—>) N
SO J2bx + X ¢ ® % y2bx + 22 ¢

© B Tprw T ®

2l = |/ . dx

B
1

(2% +2bx + b?) = (b)?]

dx

3
2

LS

dx
3

) ‘ (=07 -

QL 5, x + b = b secO

dx = b secO tan® dO

|- Jb secO tanO d O
- 3
(b sec’® — b*)2

1 fsece tan® d 0

e tan’0

_ L J‘ cos9
b* ! sin’*0

1 (sin©)™!
oot

- —1
blsind T

c

. (x + b)

=% o €

b

b
(Sece _xtb = cosO = +b Ul sind =

L (x+D)

7> T +
b? ‘/2bx+x2

0<6<%,5>0)

(x+b) x+b

‘/1 B M) gael : (D)
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(104)J dx—Px+Qlog|9e2x—4|+c dl ...

&) P=3.Q=% B P-2. Q-3
© P=3.Q=% ® P-.Q-2
(11T : 1989)
0 4" + 67" 4™ +6
@l 9¢¥ —4e7* de = 9¢** — 4 d
HIRL 5, 46X + 6 = m(9e™ — 4) + n {% (9> - 4)}
4e¥ + 6 = m(9e%* — 4) + n 18e%
4e* + 6 = (9m + 18n)e® — 4m
AGIABLSL Al Im + 187 =4 »id —4m = 6. el m = . n=2
— d
o 2(9e2% — 4) + %{5(%”—4)} N
- (9e** —4)
-[ i(9€2x - 4)
dx + = (962x B 4) dx
:_73x+% log (9¢* — 4) + ¢
del, P=2, Q=2 el : (B)

ol Ad : & = ¢ &di fdx = dt, tdx = dt

)
[ = 4t +6(ﬁ)
o) at-alt

~

(4t2 + 6) dt
) 1(Br+2)(3-2)

(_3 35 35
_ | B N 3 ar N 3 ar
t 3t+2 3t-2

= —3log ||+ 32 log (3t +2) (3 - 2)

=-3 +35 log(9 4)
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2tan x + 3
(105) J =

tan x + 4
%x+—log|3smx+4cosx|+c (B) %x+—log|3smx+4cosx|+c

© %x+—log|3smx+4cosx|+c (D) ‘;—)56+—log|3smx+4cosx|+c

2tan x + 3
B : 1 = | ———— dx
3tan x + 4

28in x + 3cos x
) 3sin x + 4cos x

gd, "Rl 5 2sin x + 3cos x = A(3sin x + 4cos x) + B[% (3sin x + 4cos x)}

2sin x + 3cos x = (3A — 4B) sin x + (4A + 3B) cos x

— — — 18 _ 1
3A — 4B =2, 4A + 3B = 3. 2, A= B=+=

8 X di(3sin X + 4cos x)
_ 13 1 X
I _25-[dx+25 3sin x + 4cos x dx

=%x+2—1,510g|3sinx+4cosx|+c gt : (B)
I [ ranx—1 tanx — ,/2tanx + 1| R
(106) tan x dx = A tan m + B log tanx+J2tanx +1| +c dl ...
1 1 1
A) A=7F.B=22 B) A=F.B=-7
Q) A=F.B= 57 D) A=—.B=-71=
© A=74F.B=571 (D) J—, ;)

Bsa : IZI tan x dx
QR 5, tan x = 1>

sec?x dx = 2t dt

2t
dx = Pra dt
[ _2r?
I _Jt4+1 d

2+n+2 -1
:j( H@e-n

#*+1

2 +1 2 —1
Sy At | Egd
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HIL 5, UAH ASQL W2 [ —

(1+-] )dt—dubﬁ(l——)
d
I:fu+2 f -
N S /s
=5 tan \/—+2ﬁlog

2 —1

=y o [gdly dAse w2 ¢+

dr = dv
v -2
vzt €

2 +1—J_t|

= tan ot ) 2J_ log

1 tan x — 1
ZEtan_l
_ L I
A=T-B=50
J (2-Dhdr .
07) o (x )

(A) % cos™! (%) +c

© % sin~1 (i_-l_-g +c

~

x2—1
J (X2 4+ Dyx*+1

x2 =1 dx
x(x2 +1)‘/x2 +L2
e X

( (l—x—lzj dx
J e+ 2y -2

—_ 1
‘/ZtanxJ + 242 log

t2+1+J_t| te

tan x —‘/Ztanx + 1|

(B) izsin_l (

(D) Lz cos™! {

l

tanx+J2tanx +1| te

=V

FAUs

©)
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- J ,/ﬂ_ (tuit yx+ &= (1—x—12) dx = dr)
B L [LJ
J2 %€ V2
= % -1 [g +c
S B /% .
-5 pa a6l : (A)
(108) JL = tan”! (F(x) + ¢, A F(x) = ..
sinbx + cos®x ’
(A) tanx —1 B) tan*x — 1 (C) tanx — cotx (D) 2tan*x — 3cot*x

(33:c-lzl=f dx

sinlx + cos®x

dx
(sin*x + cos?x) (sin*x + cos*x — sin’x cos*x)

J dx
sin*x + cos*x — sin*x cos*x

219 A O costr A3 AL,

sec*x dx

) tan*x + 1 - tan’x

((tan’x +1) sec*x dx

tan*x +1— tan*x

(2 +1)dt

Pz (R 5, tan x =t 4l, sec’x dx = dt)

= fuzd_bil (MR 5, 1 — % =u 2l (1+%2) dt = du)
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= tan”' (u) + ¢
= tan™! (t —%) +c

= tan™ ! (tan x — cot x) + ¢

o f(x) =tan x — cot x ga : (C)

(109) Je%sm (%Jri) dx = ...

=
>

x x x x
(A) ezsin%+c B) e’cosx + ¢ © ﬁechS%-i-C(D) ﬁezsin%+c

G3a : [ = Je%sin(i+%) dx

2
= T\1..5
s ) 2 _ P ST I G, DY)
23m(2+4)e dcos(2+4)2 2e2 dx
T ([ AT
— e ) 2 XL ) o2
25m(2+4)e COS(2+4)6 dx

>
1
=

[ =2.e2sin (% +%) - _Ze?cos (% +%) + Jsin (% +%) e% dx]

—9e? {sin(%+%)—cos(%+%)} -1

21 = 2e§ {sin (% +%) - cos (% +%)} + ¢

I = ﬁe%sin% +c (5 =0 oyl : (D)
(110) f X dx =
(xsin x +cos x)*> 7
Sin x + cos x X Sin X — Cos x Sin X — X oS X X sin x + cos x

A) Tonxteomx B Toaixteosx ©  xsinx+cosx (D) xsinx+ cos x

2
B3a : I=J — > dx
(xsin x + cos x)

X cos x X
= N 2 . dx
(xsin x + cos x) cos X
X X cOS X d X X COS X
- . T dv— || 7o , 7dx | dx
cos x ) (xsin x + cos x) x\ cos x (xsin x + cos x)

X —1 cosx+xsinx>< 1 4
~ cosx © (xsin x + cos x) + COSx (xsin x + cos x) X

(% (xsinx+cosx)=xcosx%l:l'[%zdt=_71)
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—X
~ (xsin x + cos x) cos x

+ _[ sec?x dx

—x sin x

~ (xsin x + cos x) cos x + cos X te

—X + x sin’x + sin x cos x

= (xsin x + cos x) cos x te

sin x cos x — x(1 — sin*x)

- (xsin x + cos x) cos x te

cos x (sin x — x cos x)

= (xsin x + cos x) cos x te

SINX — X COS X

= xsin x + cos x te g = (C)

(111 JCOSHCOH dx = o+ c
sin*x + sin*x
(A) sin x — 6 tan” Y(sin x) (B) sin x — 2(sin x)~!
(C)  sin x — 2(sin x)~! — 6 tan™(sin x) (D) sin x — 2(sin x)~' — 5 tan”(sin x)

(IIT : 1990)

.
- CoS’X + cos x
Gsa : | = T

sin’x + sin*x

o

.
(cos*x + cos*x)cos x dx

sin’x + sin*x

([(1- sin*x) + (1— sin®x)?] cos x dx
sin®x + sin*x

o

QIR 5, sin x = . 219, cos x dx = dt

(1 _ 42 4232
(-t)+(—-1%) &

2+t

(11— +1-202+1¢*
t+ 12

((t* + 12— 4> +2
(t* + 1)

J- at* —2
1dt — tz(t2+1) dt
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(" 3 N 2
Sl A wHLL yBL 210 g8l wsA

—f_ ‘[(;—22+ ),‘264-1) dr (215 »1yals)

—1— 2 —6tan

\ = sin x — 2(sin )"V — 6 tan (sin x) + ¢ )
a4 m+2J——L—-m
241 2t +1)
1 (I +1) = (17)
:jlm—4jﬂ+ﬁ¢ﬁ+2j erranel
_ 1 1 1
“ra-s|ms a2t a2 a
=t—4tan_lt+2t_—_1l—2tan_lt+c
= sin x — 2(sin )"V — 6 tan (sin x) + ¢
ao | - P
X = coeee C.
(x —a)y(x —a)(x —b)
) xX—a - |x-b 1
A a=p 7= ® “-pyi—a © Ja-ax-b)
, ( dx
Bsa : 1 = dx

J (x—a)(x—a)(x—b)

dx
3
(x—a)2(x—b)

1
2

(8

| x
a _ 2 x—b
J (x—a) ‘/—x_a
NN x—b x—>b
YL 3, =t 2l =1

X—a

(x—a)=(X=b) 4 =2 gt

(x—a)’
?£1%5m=2nﬁ
X —d

1 21
G —a) dx = b dt

(D)

g : (C)

2 x—b
a-b\{x-a

(IIT : 1996)
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(A) log
©) log
Gsa : 1

HIRL 5, xe¥ = ¢

I

xe 1

xe' +1 xe¥ +1

[ x+1

— dx
J x(1+ xe*)?

(x+1)e*

xe* (1 + xe*)?

J

_f dt
)t +1)?

:jt(t+1)

(G +D) ()

t(t+1)
1

ra- |
t

=log|t]|—log|t+1]—

= log

= log

1

t

t+1

xXe
xe* +1

[ G+ -(1)

t(t +1)?

dt

1
t+1 dt —

1

xe
xe* +1

(B) log

xe¥ +1

1
(D)H_xex + log | xe* + 1]

2el, (1 + x)e dx = dt

—1
dr — J(t+1)2 dt

- I(r+ )2 dt

I (t+ 1) 2 dt

(t+17!
—

+ c

+ 441 TC

xe¥ +1

g : (B)
(IIT : 1996)
g, : (C)
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